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Extra Practice 1
	Lesson 1.1: Square Roots of Perfect Squares

1.
Use each diagram to determine the value of the square root.
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2.
Which numbers below are perfect squares? How do you know?

a)

[image: image4.wmf]  

25

121


b)
2.89
c)
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50


d)
0.004

3.
Calculate the number whose square root is:
a)

[image: image6.wmf]  

5

7


b)
1.6
c)
0.92
d)
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4.
Determine the value of each square root.
a)
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b)
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c)
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d)

[image: image11.wmf]  

8

98


5.
Determine the value of each square root.
a)
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6.
The area of a square garden is 12.25 m2.

a)
Determine the perimeter of the garden. 

b)
The owner decides to put a gravel pathway around the garden. 
This reduces the area of the garden by 4.96 m2. 
What is the new side length of the garden?
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Extra Practice 2
	Lesson 1.2: Square Roots of Non-Perfect Squares

1.
Which numbers below are perfect squares? How do you know?
a)

[image: image16.wmf]  
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b)
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c)
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d)
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2.
State the benchmark(s) you could use to approximate each square root.
a)
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b)
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c)
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d)
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3.
Use benchmarks to approximate each square root to the nearest tenth.
a)

[image: image24.wmf]  
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b)
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c)
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d)
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4.
Suppose the 
[image: image28.wmf]  

 key on your calculator is broken. Explain how you could use 
your calculator to estimate 
[image: image29.wmf]  
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 to the nearest tenth.

5.
Use a calculator to approximate each square root to the nearest tenth.
a)
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b)
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c)
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6.
In each triangle, determine the unknown length to the nearest tenth of a unit where necessary.
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[image: image78.wmf]p

a)

b)





[image: image79.wmf]p

Extra Practice 3

	Lesson 1.3: Surface Areas of Objects Made from Right Rectangular Prisms

[image: image80.wmf]B

1.
Each cube has edge length 1 unit.
Determine the surface area of each object.
[image: image81.emf][image: image82.jpg]1 unit
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2.
Each edge of a linking cube is 1 unit long. Build a composite object with 7 linking cubes.
Exchange objects with a classmate. Determine the surface area of your classmate’s object. Check each other’s work.

3.
Determine the surface area of this composite object.
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4.
The local curling rink is shown
in the diagram at the right. It is to be painted.

a)
Determine the surface area of the structure.

b)
The roof, windows, and door are
not to be painted. The door is 1 m by 2 m
and the window is 4 m by 2 m. Determine
the surface area to be painted.
c)
A can of paint covers 300 m2 and
costs $45. Determine the cost of the paint needed.
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Extra Practice 4

	Lesson 1.4: Surface Areas of Other Composite Objects
1.
Determine the surface area of each composite object to the nearest tenth of a square centimetre where necessary.
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   b)
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2.
Determine the surface area of the composite


object at the right to the nearest square metre.

3.
Suppose the diagram in question 2 is part of a structure at a snowboarding park.

a)
What changes, if any, would you make in calculating the surface area of this object?

b)
The structure is to be covered on the top sections (where a boarder would be riding) with a special “carpet for summer sliding.” Calculate the area of carpet that would be needed.
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4.
Jeanne is helping her dad with his
stucco business for the summer. Since Jeanne
has studied surface area in school, she does

some estimates for her dad’s business.

For the garage at the right, they plan to stucco

the walls. They will not stucco the roof, car door,
side door, or window. The car door measures
5 m by 2.3 m, the side door measures 2.1 m by 
0.9 m, and the window measures 1 m by 0.7 m.

Determine the surface area to be covered with stucco to the nearest square metre.
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Extra Practice 1 – Master 1.16
Lesson 1.1

1.
a)
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b)
0.4

2.
a)
Yes, both 25 and 121 are perfect squares.
b)
Yes, 
[image: image35.wmf].
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c)
Yes, 
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d)
No, 0.004 = 
[image: image37.wmf]4

1000

 and 1000 is not a perfect square.

3.
a)

[image: image38.wmf]25

49


b)
2.56

c)
0.8464
d)

[image: image39.wmf]100

81


4.
a)
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b)
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5.
a)
2.6
b)
18.1

c)
0.05
d)
0.15

6.
a)
Side length in metres = 
[image: image46.wmf]12.253.5

=


So, perimeter of garden is 4 ( 3.5 m, 
or 14 m.


b)
New area of garden: 12.25 m2 – 4.96 m2 = 7.29 m2
New side length in metres:

[image: image47.wmf]7.29

 = 2.7
Extra Practice 2 – Master 1.17
Lesson 1.2

1.
a)
No, 53 is not a perfect square.
b)
Yes, both 1 and 25 are perfect squares.

c)
No, 
[image: image48.wmf]9

0.009

1000

=

, and 1000 is not a perfect square.

d)
Yes, 
[image: image49.wmf]1024

10.24

100

=

 and both 1024 and 100 are perfect squares.
2.
a) 
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 and 
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b)
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 and 
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c)
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d)

[image: image55.wmf]14

4

3

B


3.
a)
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is between 
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 and 
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, but closer to 3. Try 3.4: 3.42 = 11.56. 
So, 
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 3.4
b)
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c)
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 and 
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 is between 
[image: image64.wmf]93

=

 and 
[image: image65.wmf]164
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, but closer to 3.
Try 3.2: 3.22 = 10.24, which is close. 
So, 
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 3.2
d)
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 = 
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4

, which is 
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So, 
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 0.5
4.
I could use guess and test. I could use the benchmarks 
[image: image72.wmf]497

=

 and 
[image: image73.wmf]648

=

. Since 58.6 is a little closer to 64, try 7.7. 
7.72 = 59.29, which is close. So, 
[image: image74.wmf].

586

B

 7.7
5.
a)
3.8
b)
1.4

c)
0.3
d)
0.8

6.
a)
17 cm
b)
7.1 m

Extra Practice 3 – Master 1.18
Lesson 1.3

1.
a)
22 unit2
b)
18 unit2
c)
36 unit2
d)
30 unit2
2.
Answers will vary.

3.
11 900 cm2

Extra Practice and Activating Prior Knowledge
Sample Answers[image: image92.jpg]O.5m)
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4.
a)
6345 m2
b)
3350 m2
c)
11.2 cans, or 12 cans of paint are needed. The cost of the paint is $540.
Extra Practice 4 – Master 1.19
Lesson 1.4
1.
a)
996 cm2
b)
4200.4 cm2
2.
162 m2
3.
a)
The surface area of the base, 39 m2, would not be included. So, the surface area would now be 123 m2.

b)
Only the oblique faces of the structure would be included; 49 m2.
4.
74 m2
Activating Prior Knowledge Master 1.22a
1.
a)
36, 49, 144

b)
36 can be shown as a square with side length 6 units; 49 as a square with side length 7 units, and 144 as a square with side length 12 units.

2.
a)
Answers may vary; for example, 
4, 81, 121; they can each be written as the product of 2 equal factors.

b)
Answers may vary; for example, 
27, 39, 88; each number cannot be written as the product of 2 equal factors.
Activating Prior Knowledge
Master 1.22b
1.
a)
92 cm2
b)
252 cm2
2.
2035.8 cm2
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Activating Prior Knowledge
Check

1.
a) Which numbers below are square numbers?

i) 15

ii) 36

iii) 49

iv) 80

v) 144

b) Use grid paper to illustrate each number in part a.
2.
a)
Write 3 different numbers that are perfect squares.

Explain how you know they are perfect squares.

b)
Write 3 different numbers that are not perfect squares.
Explain how you know they are not perfect squares.

Activating Prior Knowledge
Check

1.
Calculate the surface area of each object.

a)

b)
2.
A cylinder has base radius 12 cm and height 15 cm. Determine the surface area of the cylinder to the nearest tenth of a square metre.






























Surface Areas of Right Prisms and Right Cylinders	Quick Review


The surface area of a right rectangular prism is:�2 ( area of top face + 2 ( area of front face ( 2 ( area of side face





The surface area of a right triangular prism is:


Sum of the areas of the rectangular faces + 2 ( area of triangular base





The surface area of a right cylinder is:


2 ( area of circular base + circumference of base ( height of cylinder





Example 


Determine the surface area of this cylinder to the nearest tenth of a square metre.





�





Solution





The area of the circular base is: � EMBED Equation.DSMT4  ���(10)2�The circumference of the base is: 2� EMBED Equation.DSMT4  ���(10) �The height is: 12 �The surface area is: 2 ( � EMBED Equation.DSMT4  ���(10)2 + 2 ( � EMBED Equation.DSMT4  ���(10) ( 12 � EMBED Equation.DSMT4  ��� 1382.30�The surface area of the cylinder is approximately 1382.3 m2.
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Perfect Square Whole Numbers	Quick Review


A number is a perfect square if it can be represented as the area of a square. �It can be written as the product of two equal factors.





Example 


a)	Which numbers below are square numbers?�i) 25			ii) 24			iii) 20


b)	Illustrate each square number in part a.


Solution


a)	i) 25 = 5 ( 5, so 25 is a square number.


	ii) 24 = 1 ( 24, or 2 ( 12, or 3 ( 8, or 4 ( 6�    24 is not a square number.


	iii) 20 = 1 ( 20, or 2 ( 10, or 4 ( 5�     20 is not a square number.


b)	i) 25 can be shown as a square with side length 5 units.���











The right to reproduce or modify this page is restricted to purchasing schools. 
This page may have been modified from its original. Copyright © 2009 Pearson Education Canada

_1156594634.unknown

_1289277554.unknown

_1289278991.unknown

_1289279469.unknown

_1289279788.unknown

_1289280675.unknown

_1289282108.unknown

_1289282120.unknown

_1289282130.unknown

_1289282094.unknown

_1289280507.unknown

_1289280547.unknown

_1289279816.unknown

_1289279537.unknown

_1289279716.unknown

_1289279485.unknown

_1289279141.unknown

_1289279451.unknown

_1289279043.unknown

_1289278467.unknown

_1289278833.unknown

_1289278874.unknown

_1289278527.unknown

_1289278135.unknown

_1289278266.unknown

_1289278392.unknown

_1289278177.unknown

_1289278192.unknown

_1289278147.unknown

_1289278102.unknown

_1289278118.unknown

_1289277566.unknown

_1289277848.unknown

_1156597388.unknown

_1289277484.unknown

_1289277508.unknown

_1289277522.unknown

_1289277534.unknown

_1289277496.unknown

_1289277054.unknown

_1289277097.unknown

_1289277425.unknown

_1289277468.unknown

_1289277109.unknown

_1289277119.unknown

_1289277081.unknown

_1289276523.unknown

_1289277026.unknown

_1156598574.unknown

_1288156588.unknown

_1156596507.unknown

_1156596673.unknown

_1156596728.unknown

_1156596770.unknown

_1156596552.unknown

_1156596375.unknown

_1156596404.unknown

_1156596071.unknown

_1156589933.unknown

_1156590161.unknown

_1156590350.unknown

_1156594143.unknown

_1156594551.unknown

_1156593824.unknown

_1156590412.unknown

_1156590281.unknown

_1156590308.unknown

_1156590221.unknown

_1156590103.unknown

_1156590136.unknown

_1156589955.unknown

_1156589800.unknown

_1156589859.unknown

_1156589883.unknown

_1156589826.unknown

_1156589536.unknown

_1156589620.unknown

_1156589511.unknown

